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QUESTION 1

Scenario: A company has 10 XenApp servers. The administrator has changed the recovery action of the 

MS Print Spooler Test of Health Monitoring and Recovery to prohibit logons and connections to the server. 

Users report printing problems when connecting to three of the XenApp servers. 

Using Health Monitoring and Recovery to allow additional XenApp servers to be excluded from load 

balancing, the administrator should change the __________. 

(Choose the correct option to complete the sentence.) 

A. minimum percent of online servers default value of 5 percent 

B. maximum percent of offline servers default value of 5 percent 

C. minimum percent of online servers default value of 10 percent 

D. maximum percent of offline servers default value of 10 percent 

Correct Answer: D 

 

QUESTION 2

Scenario: Three Web Interface sites are configured on different servers in a farm. The administrator wants to ensure
that users are always able to access their applications through the Citrix Receiver. 

How can the administrator configure the Web Interface sites to meet this requirement? 

A. Enable site redirection for the sites. 

B. Configure backup URLs for the sites. 

C. Configure the direct access method for the sites. 

D. Configure the \\'bypass any failed server for\\' setting for the sites. 

Correct Answer: B 

 

QUESTION 3

Scenario: The administrator of a XenApp Enterprise Edition server farm is configuring Single Sign-on for the users of the
farm. The Citrix license server was installed with the default vendor daemon and console Web port numbers, but NOT
the default license server port number. 

Of the port numbers that are in use in the XenApp server farm, which one should the administrator specify for the
license server during Single Sign-on configuration? 

A. 443 
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B. 7279 

C. 8082 

D. 27009 

Correct Answer: D 

 

QUESTION 4

Scenario: A user opens a session to Server A to use a word processing application at 18:00. After 45 minutes of
working with the word processing application, the user then launches an email client application, which opens a new
session on Server B. Upon review of the environment, the administrator confirms that both applications are published
with the same parameters for audio, screen size, color resolution and encryption. 

Which three possible reasons could have prevented Session Sharing from occurring? (Choose three.) 

A. The email client application is NOT installed on Server A. 

B. The email client application is only published from Server B. 

C. The number of instances of the email client application that can be run is limited. 

D. Server A is reporting a full load, preventing the email client application from launching. 

E. Server A and Server B are in different vLANs; the vLAN of Server B has more capacity than the vLAN of Server A. 

Correct Answer: ABD 

 

QUESTION 5

Scenario: A company has two XenApp 6.5 farms and two Web Interface servers, each hosting a specific business
application. Because of legal reasons, the applications CANNOT be delivered from a single farm. Users complain that
they often use the wrong URL or do NOT see the application they require. 

Which two tasks can an administrator complete to reduce the users\\' confusion? (Choose two.) 

A. Use a load balancer to provide a single URL to both Web Interface servers. 

B. On each Web Interface server, create a new Web Interface site for the alternate farm. 

C. On each Web Interface server, add a second farm that is configured with at least one XML gateway from the
alternate farm. 

D. On each Web Interface server, modify the existing farm configuration and add at least one XML gateway from the
alternate farm. 

E. Customize the Web Interface footer text on both Web Interface servers to remind the users of which applications are
provided by the current server. 

Correct Answer: AC 
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